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Part A: Grammar and Voeabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will

see four words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase
that best completes the sentence. Then mark your answer sheet,

The design of the carpet appeared so pleasing to John --——-—-———--— to buy it as quickly as
possible.

1) which he decided 2) that he decided  3) he decided 4) decided

Some of the animals now ---------———--- in Afriea are very close to extinction.

1) they are living 2) are living 3) live 4) living

Do you actually want to know —-—-—-—-—- 2

1} did the first coffee bean growers how used to live
2) how did the first coffee bean growers use to live
3) how the first coffee bean growers used to live

4) the first colfee bean growers used to live how

Tired --------------- the careless employee’s endless mistakes, the boss sent him to another
department.

1) of 2) for 3) with 4) about

This new type of the Digpges telescopes --—————---—- images 11 times.

1) recognizes 2) explores 3) magnifies 4) releases

He was until very -—-—————— the most powerful banker in the city, but some more
powerful ones have started work.

1) immediately 2) commonly 3) formerly 4) recently

The story the child told us was not true; it was only the product of his ——- é

1) conclusion 2) imagination 3) comparison 4) collection

She told her children to be quiet, as the noise they were making was really --——-—- her.

1} bothering 2) preventing 3) frightening 4) influencing
Probably her greatest ——--——-eeee === is that her mother is ill and that the doctors are not
able to keep her alive,

1) sense 2) prediction 3) concern 4) concentration
When he said he was not ---—mem - to answer that particular question, we switched on
to other questions quickly.

1) calm 2) exact 3) willing 4) suitable

I hope a little bit of sleep would --=--meeeeemx -- some of the confusion from my mind.

1) remove 2) destroy 3) stick in 4) pick up

As he felt a pain in his ———------eeuu- . he went to the emergency department of the nearest
hospital, afraid that he might have a heart attack.

1) muscle 2) vessel 3) lung 4) chest

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and

decide which choice (1), (2), (3). or (4) best fits cach space. Then mark yvour answer sheet.

Like most people, | don't have much trust in car advertisements—(88) -----mmmmmeemn
they're Audi's or anyone else's. So when [ bought an Audi 100LS, | decided to check
the (89) ——---mceemem- which [ got against what they advertise.
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We (90) ——---mmmmv together now tor 100,000 miles, and | have kept a full record
of everything I've spent on my car—right down to the car wax and the polishing
cloths. And I can only say that, in my experience, the people at Audi didn't tell the

whole truth. They claim that the Audi 100 is remarkably (91) -----—-mmeo- . But
nowhere do they tell you that it needs 20 liters of gas per every 100 kilometers, which
is (92) -----—--—--I've averaged over the past five yvears. But they came a little closer to

the truth when they said that the Audi 100 is reliable.

1) since 2) whether 3) while 4) even though

1) functions 2) conditions 3) aspects 4) results

1) are 2} haven been 3) will be 4) are going to be
1) flexible 2) economical 3) hardworking 4) natural

1) what 2) when 3) that 4) how

Part eag Com prcensinn

Directions: In this part of the test, you will read two passages. Each passage is followed

by four questions. Answer the questions by choosing the best choice (1), (2), (3), or
{4].'l‘hen mark your answer sheet.

Passage 1:

A device has been developed that enables babies born blind to see the world through
echoes from an ultrasonic scanner. Dr. Tom Bower, of Edinburgh University
psychology department, told the British Association annual conference that he gave
the device to a 16-week-old boy in the U.S. and the child responded to it within half a
minute of putting it all.

The batterv-operated scanner sends out a pulse of ultra-sound through a cone
attached to the forehead. Through earplugs the baby is able to hear echoes in stereo
which tell him what lies in front. By moving his head, he will detect sounds from
different parts of the room.

The closer the object is, the lower the pitch of the sound. The bigger it is, the louder
the sound. The child can also establish whether the object is hard or soft: a hard object
will give a clear sound, and a soft one will give a fuzzy sound with overtones. Normal
voice commands can be heard by the baby while he is wearing the device.

Bower first tried it out on a blind baby from the Berkeley children's hospital in
California. The baby, Denis Daughters, seemed delighted and played hide-and-seek
with his mother after a few days. He enjoyed finding her in a room. At the age of nine
months, he had reached the development stage ol a normal sighted baby. He was able
to perform tests such as balancing an object on two prongs or on a table edge. This
may sound unimportant, but few sighted children can perform such a task before this

age.

What is the best title for the passage?
1) The World of the Newly Born 2) Seeing With Ears
3) Scanners: A New Version 4) Scientists Help Doctors
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The word "it" in paragraph 1 refers to -——-—-——- :

1) device 2) echo 3) conference 4) department

What does paragraph 2 mainly discuss?

1} The quality of the sounds received by blind children

2) Who the new invention is good for

3) Ways to use the new device

4) How the new device works

Why does the author mention Denis Daughters in the last paragraph?

1) To show how to stop blindness in childhood

2} To indicate the importance of playing games for the development of children

3) To cite an example in support of the fact that the new device is practical

4) To prove that more tests are to be performed before the new device can work
efficiently

Passage 2:

Mars is the fourth planet from the Sun and the second-smallest planet in the Solar System,
after Mercury. It is often referred to as the "Red Planet" because the iron oxide prevalent on
its surface gives it a reddish appearance. Mars is a terrestrial planet with a thin atmosphere,
having surface features that look like the craters of the Moon and the valleys, deserts,
and polar ice caps of Earth.

The rotational period and seasonal cycles of Mars are likewise similar to those of
Earth, as is the tilt that produces the seasons. Mars is the site of Olympus Mons, the
largest voleano and second-highest known mountain in the Solar System, and of Valles
Marineris, one of the largest valleys in the Solar System. The smooth Borealis basin in
the northern hemisphere covers 40% of the planet and may be a giant impact feature.
Mars has two moons, Phobos and Deimos, which are small and irregularly shaped.
These may be captured asteroids, similar to 5261 Eureka, a Mars trojan.

Which of the following guestions is the one the passage is primarily written to answer?
1) How was Mar formed?

2) What life forms can Mars support?

3) What does the Planet Mars look like?

4) How big is Mars compared to other planets in the solar system?

The passage suggests that Olympus Mons ———--—--—emeem- =

1) 15 the only volcano that we can find on Mars

2) plays a part in the creation of Marian seasons

3) is the second highest mountain in the universe

4) comes second in height in the whole solar system

The word "one" in paragraph 2 refers to ——===-==——=—=— !

1} Valles Marineris 2} Olympus Mons 3) mountain 4) volcano

The passage provides enough information to answer which of the following questions?
1) Why is the atmosphere of Mars thin'!

2) Where has the iron oxide on Mars come from?

3) Why are the two moons of Mars irregularly shaped?

4) How many planets are closer to the Sun than Mars is?
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Teil A: Grammatik

76- Die meisten Menschen haben Angst .........., von den anderenabgelehntzuwerden.

1) daran 2) davor 3) dafir 4) dariiber
77-  In dies.......Geschiifthattesich der fliichtig ........ VerbrechereinFahrradgekauft.

l)—em/—er 2)—er/—e 3)—em/-e 4) —er/-en
78-  Wielautet der Plural von »der Musikant«?

1) Musikanten 2) Musikante 3) Musikants 4) Musikanter
79-  WelchenKasusverlangt die Priipositionsnache«?

1) Dativ 2) Genitiv 3) Akkusativ 4) Nominativ
80- Welches der folgendenVerbenwird stark konjugiert?

1) leben 2) lieben 3) wandern 4) steigen
81- Istesmiiglich, dass man sattwird, .......... vielgegessenzuhaben?

1) statt 2) ohne 3) auller 4)um
82- Du......... ihmnichiwidersprechen, ohnedass du ihnwiitendmachst.

1) musst 2) willst 3) kannst 4) darfst
83- Beiwelchemhandeltessich um das PassivFutur | von »strainieren«?

1) wirdtrainiert 2 wirdtrainiertwordensein

3) wirdtrainiertwerden 4} wurdetrainiert
84- ........Uteihr Kind bekam, warallesanders.

1) Damit 2) Soweit 3) Indem 4) Bevor
85-  Der Wagen, mit .......... ichzurUnifuhr, hatteunterwegseine Reifenpanne.

1) dem 2) den 3) der 4) das

Teil B: Vokabeln

86- Schligt man in..........nach, findet man zahlreicheErklirungenfiir den Begriff »angeben«.
1) einemKatalog 2) einemVerzeichnis
3) einemW Grterbuch 4) einer Grammatik
87- Unser Lehrer berichtigtnur die Hausaufgaben, die viele.......... haben.
1) Folgen 2) Flecken 3) Krisen 4) Fehler
88- wSchaffner« verhiiltsichzn wFahrschein« wie »Polizei« zu »........«.
1) Strafzettel 2) Auswelis 3) Gefingnis 4) Ampel
389- ErwiinschtesichschonLiingereine .......... , mit der erjederzeitFotosschieBenkonnte.
1) Uhr 2) Pistole 3) Kamera 4) Angel

90- Welches Wortpasstnicht in die Reihe?
1) Decke 2) Teller 3) Tasse 4) Schiissel
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91-
92-
93-
94-
95-

96-

97-

98-

100-

Teil C: Liickentest
ErgiinzenSie den Text mit den richtigenAuswahlmiglichkeiten!

Kant wurde im Jahr 1724 geboren. Mit 16 Jahren ging er (91) ......... an die Universitit,
um zu studieren. Sechs Jahre spiter starb sein Vater, und Immanuel Kant wurde
(92) ......... . Er unterrichtete also die Kinder von reichen Leuten in deren (93) ......... :
Spiiter aber wurde er Professor an der Universitiit. Kant hat sich fiir so ziemlich alles
() s . zum Beispiel fiir die Astronomie. So iiberlegte er, wie die Sterne und
(95) coreeene entstanden sein kénnte.

1) wiltend 2) zurzeit 3) lngst 4) bereits

1) Journalist 2) Hauslehrer 3) verleger 4) Philosoph

1) Hiusern 2) Freizeit 3) Jugend 4) Amtszeit

1) entschuldigt 2) entschieden 3) geoplert 4) interessiert

1) Kiisten 2) Planeten 3) Kontinente 4) Liindereien

Teil D: Leseverstehen

Jamaika ist eine Insel und gleichzeitig ein Staat. Das Land liegt in der Karibischen
See, zwischen Nordamerika und Siiddamerika. Nordlich von Jamaika befindet sich die
Insel Kuba. Die ersten Bewohner der Insel waren die Arawaken, die aus Siiddamerika
kamen. Aus ihrer Sprache stammt der Name der Insel, der soviel wie Holz- und
Wasserland bedeutet. Christoph Kolumbus entdeckte die Insel im Jahr 1494 fir
Spanien. Etwa 150 Jahre spiiter eroberten es die Briten. Englisch ist die Amtssprache
Jamaikas. Fast alle Jamaikaner haben Vorfahren, die als Sklaven aus Afrika
hergebracht worden sind.

WelcheSprachesprechenheutedie Jamaikaner?

1) Englisch 2) Franzisisch 3) Portugiesisch 4) Spanisch
Woherkamen die urspriinglichenBewohnerJamaikas?Aus ...

1) Siidamerika 2) Nordafrika 3) Mittelamerika 4) Australien
Die Yorfahren fast allerJamaikanerkamenvorvielenJahrenals ....... auf die Insel.
1) Eroberer 2) Gastarbeiter 3) Fliichtlinge 4) Sklaven
Wannhaben die Britendie Insel)Jamaikaerobert?

1) ImJahre 1494 2) Mitte des 17. Jh.s

3) Im 16. Jahrhundert 4) Ende des 14. Jh.s
WelcheAussageiiberJamaikatrifftnichtzu? Jamaika ..........

1) bedeutetHolz- und Wasserland. 2) liegt in der Karibik.

3) liegtimNorden von Kuba., 4) wurdeeinstdurchSpanierentdeckt.
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Partie A: Structure

To-

i &

78-

79-

80-

81-

82-

83-

84-

85-

86-

87-

Complétez les phrases suivantesetcochez la réponsecorrecte:

Paul pleure, il a perdu ........clés et ne peut pas entrer chez lui.

1) des 2) leurs 3) ses 4) vos
Mon filstravaillecommevendeur .......... huitjoursetilest déja fatigué.

1) pour 2) depuis Jyilya 4) pendant
Marie aime beaucoup le miel; elle ......... met mémedans le thé.

1)y Z)en 3) les 4) leur
Quelssont les papiers......... on a besoin pour avoir le visa?

1) ou 2) que 3) qui 4) dont

En général, je bois une tisane le soirmaishiersoir............un café.

1) j'aibu 2) jebuvais 3) je bois 4) jlavaisbu
Si j"habitais & la campagne,..........un chien

1) 7' 2) favais 3) j'aurais 4) j'aurai
Mon rendez-vousest A neufheures: ilfautque je ..........de chez moi dhunitheures.
1} sorte 2) sors 3) sortirai 4) sortirais
Quandvousavezirouvé du travail,vous ...........vosétudes.

|} terminiez 2) aviez déja terming

3) terminez 4) avez déja terminé

Partie B: Vocabulaire
Complétez les phrases suivantes en cochant la réponsecorrecte:

Il fait presque 40° i I'ombresen effet, il faitunechaleur ...........

1} épouventable 2) splendide 3) radieuse 4) magnifique
Julien rentre du Brésilonilétait en voyage de noces. Julien est ...........

1) veuf 2) marié 3) célibataire 4) divorcé

A cause de sesprobléemesdans son pays, il a demandé..........a la France.

1) l'exile 2) le réfugié 3) lanationalité 4) l'asilepolitique
L'infirmiéreluiamis ..........sursaplaie.

1) un bandeau 2) unebande 3) un pansement 4) unecompresse
La nation touteenti¢reétait ...........de la victoire de I'équipe de football

1) fidre 2) égoiste 3) arrogante 4) orgueilleuse
Les supporters de I'équipeonthurlé de joie quand le joueura ........le but.

I') perdu 2) gagne 3) marqueé 4) pris

Pour calmer son toux,le médecinlui a .......... unsirop.

1) écrit 2) prescrit 3) transcrit 4) ordonné
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Partie C: Texte & compléter

91-
92-
93-
94-
95-

97-

98-

99-

100-

Complétez le textesuivant a l'aide des réponsescorrectes:

Unefillette de troisansaétédécouverte ... (91) dans des toilettes publiques a
Monaco, par une ... (92)quil'avaitentenduepleurer.Elleétaitrecroquevilléesur
.......... (93), sous la pluie. Elle étaitaffamée, elle a dabordengloutides dragées,
disantseulement encore, puis on lui ... (94) son nom, d'ou........... (95) wenait,
ouétaientses parents.

1) abandonné 2) abandonnait 3) abandonner 4) abandonnée
1) pidtonne 2) passagére 3) passant 4) passage

1) le sol 2) laterre 3) le terrain 4) le territoire
1) demande 2) demandait 3) demandera 4) a demandé
1) elle 2) eux 3) lui 4) 11

Partie D: Compréhension de texte
Lisez le textesuivantetrépondez aux questions:

Tout le monde n'a pas l'argent pour se payer une machine a laver et pas le temps non
plus d'attendredans un Lavomatic.

Si cest le cas pour vous, voustrouverezsur le laverfacile.fruneliste des propriétaires de
machines a laver chezqui vouspourrezaller laver votrelinge: le systémefonctionne
déjadansplusieursvilles en France.

Ce sont les propriétaires qui décidentcegu'ilsveulentavoir en échange: un repas, une
discussion, un coursd'anglaisou de 'argent. Il faut savoir qu'avecune machine standard,
un lavage ne coltepas plus d'1,50 euros contrepresque 4 euros dans un Lavomatic en
régionparisienne.

Lisez le texteetidentifiez son objectil:

1) exiger 2) informer 3) récalmer 4y expliquer
Laverfacile.fr est...........

1) une course de roller

2) un commerce trés rentable

3) unconcours qui récompense le meilleur

4) un service par les particuliers pour laver le linge

Laverfacilefrest un site ol

1) on stock le linge 2) on lave et sechele linge
3) on vend des machines a laver 4) on nettoie les magasins
En échange de laver le linge, les propriétaires ...

1) demandentdiftérents services 2} nedemandentrien

3) demandent a faire de la publicité 4) demandent de l'argent
Laver le lingedans un lavomatic........... .

1) estgratuit

2) est plus cher chez un particulier
3) coltemoinscherque chez un particulier
4) a plus d'avantageque chez un particulier
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77-

78-

79-

80-

81-

84-

85-

87-

88-

91-

BribepuTe npaBHIBHLIA BAPHAHT OTBETA:

BenoMHH, DoAY HCTA, i i nan MHE 3BOHW Ceroans.

1) kTo 2) kak 3)roe 4) uro
Ou1er ENPOCHT.cuvvriaieniesisnn 0 BpeMEHH IKCKYPCHH.

1) oT cBoero apyra 2) croemy apyry

3) ceoero apyra 4) w3 esoero apyra

H dmaronapeH ...oocvviieniiinnn. 38 HX NOMOUL H NOLIEPHEKEY.

1) cBon Apyiba 2) CBOMM JIpY3LAM

3) cBOMX Apy3ei 4} co CBOMMH JAPV3ILAMH

?tﬂﬂ'l'pﬂ Harama ...cooovvvirennensnsdTH KOHBEPTEIL

1) nokynare 2) KyNHTE 3) KviHaa 4) Kynur
[1o nopore na patoTy # ...ocvvvvrvnrnrenes K HOJAPYTE,

1) nepeexana 2) noabexana 3)zaexana 4) phexana
AHHA 3AD0OTHTEH cvvrvernrrenrsnsnnan

1) o maagmem Gpare 2) mnammero Oparta

3) mpauumii dpar 4) ¢ mpamuuM OpaToM

CeroHa ¥ MEHA cuuueranecnnncnnanns

1) TpyAHOIO 3K3aMeHa 2) TpyAHBIH 3K3AMEH

3) 0 TPYAHOM JK3aMEHE 4) K TPy AHOMY JK3aMeHYy

BpaTt NpHeseT KO MHE. c.vviirraiirninnn

1) MmapT 2) mapra 3) B MapT 4) B mapre
B namem yuusepenrere yaurTest 250, ..

1) HpaHCKHE CTYICHTEI 2) MpaHCKMM CTYIeHTaM

3) HPAHCKHX CTYJIEHTOR 4) ¢ MPAHCKHMH CTY/IEHTAMH
Thi ¥#Ke UHTAN MOBECTh, vuevrvsssssansanHANEUATAHA B KYpHATE «Bpeman?

1) koTopoe 2) koTopan 3) KOTOpHIH 4) KOTOpYIO
Mbl MOZHAKOMHIHCE .« vevrnnecenennens "

1) ¢ H3BECTHRIMH APTHCTAMH 2) WIBECTHRIX APTHCTOR

3) OT H3BECTHLIX APTHCTOR 4) HIBECTHEIM APTHCTAM
MammHa OCTAHOBHIACE OKOM0: s eierassssssssssss

1) B cocennem Jome 2) coceaHui 1oM

3) B coceaHuit qom 4) coceanero qoma

MEI €30HTH K MOAPYTE, ovvnvrrrnrnrrarrare fl 3BOHILIA BYepa.

1) KoTOphIE 2) koTopoe 3) KoTopoii 4) KoTopas
ITo 3NAHHE ... rerrrasssaneesB HAMATE 20 BeKA.

1) nocTpoeHo 2) nocTpoen 3) nocTpoenHasn 4) nocTpoeHHOE

.................... CTATE NMepeB01IHEOM, Harama NOCTYMH1a Ha ¢BH3TJ'II:TET

HHOCTPAHHBIX A3LIKOEB.

1) Pelsasiumii 2) Pewun 3) Petnas 4) Peumsiumii

CecTpa CIPOCHIR, ..o vvieniiiianiian # noeay B cybbory.
1) KoMy 2) koro 3) Kk komy 4) v koro
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b. JlomoaHnTe TEKCT, HCMOIB3YA MOAXOASAUIEE MO CMBICTY CA0BO.

Poaunca 5w nposen (92).............eTcTBO B Jgepesde. Mue(93).............. noaTopa
roia, Korga MaMa ckoHuanack.Bcee, uro A 3uaio o(94).............. , BCE MpeKpacHo, H 4
I¥Maw — HEe OTTOro TONeKO, ure (95).............NOBOPHBLIHE MHE MNP0 MaTh
(96).............CTAPATHCH TOBOPHTE O MATEPH TOJILKO XOPOIIEE.

92- 1) neproro 2) nepesii 3) nepBoMy 4) nepeoe

93- 1) Dbuio 2) Buin 3) Oblna 4) ObITE

94- [)ee 2) ueii 3) eii 4) ona

95- 1) Beck 2) Bea 3) Bce 4) Bcwo

96- 1) moa 2) Moo 3) moeii 4) moe

B. [lpounraiiTe TeKCT H BBINOIHHTE 3a1AHHHA NOC/IE HETO:

Mue ObL10 JIBEHAAUATD JET, H A4 YUHICA B WKoae. Pas Ha nmepeMeHe MoaxoauT Ko MHE
Torapuil Mol HOxumenko u roeopur: — Xouews, 8 Tebe obeswanky nam? H ne
MOBEPHI — AyMall, OH MHE ceifdac WYTKY Kakyio-HHOYIb YCTPOHT TakK, 4TO HCKPBI M3
r1a3 MoCHIMIITCA, H ckaxkeT: «BoT 910 M ecTh «obe3nankan.

Her, — roropuT, — B camom aene. Kuryio obeananky. Ona xopomas. Ee Skoii 30ByT.
A nana cepaures. — Ha koro? — Jla na nac ¢ Awkoit. YOupaii, rosopur, Kyia 3Haeils.
A nymao, 4To K Tede Beero vyiie.

[locne ypokor nomauw mel K Hemy. S Bce eme He Bepun. Hevenw, myman, xupas
obDesbanka ¥y mens Oyaer? M sce cnpawmsan, kakas ona. A HOxumenko rosopur: —
Bor yBuauiie, ne Ooiica, ona manenbkad. JelcrBurentsio, okazanachk MalleHbKas.
Ecnu Ha nankv BcTaHer, To He Oonblue noayapiiuHea. Mopaouka cMOpIIEHHAs,
CTapyiuens, a rasku xueete, Onecrame. Ha nei Opin nager cuunil wuner. lepers
Ha Hell peikan, a nanku yepusie. Kak OyATo YenoBeuLH pyKH B MEpYaTKax YepHbIX.

97-  Kro npeijoani MaIbLUYHKY B3NTE 00e36IHKY?

1) oren 2) WKOABHEIH TOBAPHIIL

3) yuuTens 4) nankHHI POICTEEHHHK
98- IMouemy oH NpeLIOKNHT MATBYHKY 00CILAHKY T

1) xoTen caenars MalLuYHKY MPHATHOE

2) NOTOMY 4TO ¥ MANBLYHEA OBLI ACHL POAICHHA

3) XOTen HAYYHTh MAbUYHKA MOOHTE KHBOTHBIX

4) noToMy uTo ero orey Benen emy yopars 00e3bsHKY M3 10MAa
99- Kak peirasiena obeibaHka?

1) MasleHbKAN, PBIKAS C YEPHBEIMH JIaIKAMH

2) pOCTOM OKOJIO METPA, YEPHAA C PEIKHMH MATHAMH

3) pOCTOM Yy Th DOJBIIE MOJTYMETPA, CEPAd ¢ PRIKHMH JankKaMu

4) malieHsKas, pocToM DOJIBLIE MONYAPUIHHHA, C PRIAHMH [TATHAMH
100- Yro na obesbanre dui10 Hagero?

1) kpacuan pybaxa 2) weperanas oaex1a

3) cHHHH KHIET 4) ceprlii xanar



¥ a=ie 130-C u.f_LJL.ﬂ U"J
Capitolo A: Indicate la rispostacorretta:
T6- Tra le frasi seguenti quale ha pronome dimostrativo?
1) Nessuno si e lamentato di Lei.
2) Abbiamo camminato per due chilometri.
3) Daremo aiuto a colui che sara’ in difficolta’.
4) La macchina di Alessandro e’ bianca, la mia ¢’ rossa.
77-  In una citth come Milano .............. molto per vivere.
1) uno si spende 2) si spende 3) uno spese 4) spende
78- Indica il contrario della parola abbandono.
1) resistenza 2) desiderio 3) allegria 4y voglia
79-  Trasformare la frase usando la forma impersonale: Se fai un bagno caldo, ti rilassi.
1) Se si fa un bagno caldo, ci si rilassa, 2) Se si fa un bagno caldo, rilassa.
3) Se fa un bgno caldo si rilassa. 4) Se si faun bagno caldo, ci rilassa.
80- Completa la seconda parte della frase con la forma adeguata del passato remoto. lo
persi la chiave e noi .........ovenne Iindirizzo.
1) perdeste 2) perdemmo 3) persero 4) perdesi
Bl iacisesnis non pud venire, pud rifiutare I'invito.
1) il quale 2y colui 3) chi 4) egli
82- Cosa dici? Stai scherzando o stai dicendo .............7
1) serio 2) verita’ 3) sul serio 4) sulla verita’
33- Dopo aver sbandato, il camion era tutto.......covue... ¢ bloceava la strada.
1) di traverso 2) a traverso 3) per traverso 4) traverso
84-  Luigi era molto stanco, qUasi ..o
1) vivace 2) felice 3) magro 4) addormentato
85- Signora, .......cecoee.. piace di piil la carne o il pesce?
1) Lei 2) Le 3) Gl 4) Egli
86- Domani io .....cecciinneeee. tutta la casa.
1) pulisci 2) pulisco 3) pulisce 4) pulisca
87-  Mi aiuti ad apparecchiare? Si, ...ccccnreeeeaiuto,
it 2) ne 3)tu 4)ymi
88- Se..cocoeeeeeondn te, ¢i andred.
1) ero 2) sono 3) sarei 4) fossi
89- Vorreitantochevoi .............. delvostromeglio per risolvereilproblema.
1) faccia 2) facciate 3) faceste 4) facessero
90- 1l cinema era affollatononostantecheibiglietti .............. ildoppio.

1) costino

2) costano

3) costassero

4) costrerebbero
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91-
92-
93-
94-
95-

96-

97-

98-

99-

100-

Capitolo B: Completate il seguente testo con le parole proposte:

La metereologia ¢ la ..........(91) che studia I"atmosfera terrestre e i suoi fenomeni.Da
sempre "'uomo ha cercato di capire e di .......... (92) i fenomeni della nostra atmosfera.
Il primo trattato di metereologia fu scritto da Aristotele nel 340 a.C.Scienziati come
Galilei ¢ Torricelli hanno dato inizio ad una grande raccolta di dati nel XVII secolo
dando inizio a vere e proprie .........(93) metereologiche. Dopo di loro tante scoperte
sono state fatte da grandi scienziati come: Newton, Pascal e Boyle. Dal momento in
cui 'uomo ha potuto .......... (94) di satelliti (dopo il 1960} ¢ di computer potenti ¢
veloci ha saputo prevedere sempre con maggiore .........e.... (95) temporali, tempeste,
tornado... insomma, il tempo che ci aspetta domani.

1) data 2) forma 3) scienza 4) maniera

1) dipingere 2) prevedere 3) esprimere 4) proclamare
1) osservazioni 2) proclamazioni 3) espressioni 4) visioni

1) usare 2) vedere 3) servirsi 4) lasciarsi

1) abilita 2) bravura 3) potenza 4) sicurezza

Capitolo C: Leggete il testo e rispondete alle domande seguenti:

La parola DESERTO deriva dal latino e significa “abbandonare™, in realtd dobbiamo
considerarlo come un ecosistema che riceve poca, pochissima pioggia ma dove, in
molti casi, la vita ¢ abbondante: la vegetazione si adatta alla poca umidita e la fauna
resta nascosta durante il giormo. Nel momdo troviamo i deserti in zone caratterizzate
da costante alta pressione, cio¢ in zone dove non piove quasi mai; sono localizzati
lontano dal mare e raramente raggiungibili dai venti umidi che arrivano dagli oceani.
Queste condizioni fanno di questi territori dei posti aridi e molto aridi.

L’origine della parola deserto vuole dire......coceeeeee

1} perdere 2) ignorare

3) trascurare 4) lasciare definitivamente

Al deserto di solito manea......ccvevnne

1) la pioggia 2) il vento 3) la polvere 4) la sabbia

Il deserto é ..............della vita

1) fuori 2) privo 3) nemico 4) ben fornito
Il complesso delle specie degli animali proprie del deserto che fa durante il giorno?
1) esce 2) dorme 3) sicela 4) abbandona

Il vento che carica I'umidita viene .................
l) dalla campagna  2) dall” oceano 3) dal monte 4) dal deserto
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